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Fanny Dufour, June 16th, 2006



Outline

T - —-..——

Note: this talk is not finalized, feel free to email me
with questions and comments!!

* Basic energy distributions (E_rec-E_true)/E
* Event by event method

* Spectrum method
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NB see backups for plots including all events
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Event by event method

ORI

For each event:

- read E_true 0 0 E
- assign E_rec according § | 8 F
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Results of event by event method
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Spectrum Method

For a given E-true Spectrum:

- Put the E-true spectrum
Into a vector

- Do a matrix multiplication
of the E-true vector *
E rec vs E-true matrix

- Get a E-rec vector that can
be turned into a

ks

o ek b2 W o SN =] OD WD
ks

I R N R R B N ]

[ § 10
ﬂEzr’ec Vs Enu nuze CC

0 H2 I4IH6” 8 ”10
Ezrec vs Enu CCQE

10 10 ¢
E-rec spectrum. o F o F
8 £ g £
7 E 7E
6 E 6k
5 E_ 5 E_ .......
4 E 4B - Lttt
E 3E i 3E
E true]* M = 2 b 2 b oLl
[ — -rec 1 Egat "t 1 Eonnaeenmmensiill®
0 el I L L I AR A B 0 p[Jos| LTl Ll S Ll LT
0 2 4 6 & 10 0 2 4 6 & 10

Fzrec vs Enu nuzmu CC Fzrec vs Enu NC



Backug




1000

200

600

400

200

(E_rec-E_true)/E_true

[ ]
ey

05 1

05 0
NUMU CC

180 |
160 |
140 L
120 |

100
&0
60

40 |
20
o

NUE CC

Split according to E-true

All events

22.5
20
17.5

12.5

225
200
175
150
125
100

-1 05 0 05 1
0.82E 1.5

CCQE events

0.35 E 0.85




1600
1400
1200
1000
800
600
400
200

—

(E_rec-E_true)/E_rec

E_ | L | ||lk|.
-3 -2 -1 0
CCQE
E_ I | (I A e
-3 -2 -1 0
NUMU CC

450
400

200

Split according to E-rec
All events
CCQE events

2 -1 0
0.82E 1.5

400
350

g_ ki | L
-3 -2 -1 0 1
0.35 E 0.85




